

## PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/6/2025 9:24:19 AM

			General De	etails					
Parcel ID:	235-0010-016	01							
Document:	Abstract - 014	29655							
Oocument Date:	10/08/2021								
		Leg	gal Description	on Details					
Plat Name:	BALKAN								
Section	Тс	ownship	F	Range	Lo	ot	Block		
10		58		20	-		-		
escription:	NLY 215 FT (	OF THAT PART	OF NE 1/4 OF N	NE 1/4 LYING E	OF MC NIVEN R	OAD EX RD R/W			
			Taxpayer D	etails					
axpayer Name	CARLSON TH	IOMAS D & TO	NYAL						
nd Address:	11106 LAITAL	A RD							
	CHISHOLM M	IN 55719							
			Owner De	tails					
Owner Name CARLSON THOMAS D									
Owner Name	CARLSON TO								
		Paya	able 2025 Tax	x Summary					
	2025 - Ne	t Tax			\$3,401.0	0			
	2025 - Sp	acial Assassma	nts		\$85 O	\$85.00			
			ial Assessments						
	2025 - 1	Total Tax & S	Special Asse	essments	\$3,486.0	0			
		Curren	nt Tax Due (a	s of 5/5/2025	i)				
Due May 1	5		Due Octo	ber 15		Total Due			
2025 - 1st Half Tax	\$1,743.00	2025 - 21	2025 - 2nd Half Tax \$1,743.00			2025 - 1st Half Tax Due			
	. ,						\$1,743.0		
2025 - 1st Half Tax Paid	025 - 1st Half Tax Paid \$0.00		2025 - 2nd Half Tax Paid \$		60.00 2025 -	2nd Half Tax Due	\$1,743.00		
2025 - 1st Half Due	\$1,743.00	2025 - 21	2025 - 2nd Half Due \$1,743.00		43.00 2025 -	Total Due	\$3,486.00		
	¢.,						<b>v</b> o,		
			Parcel De	tails					
Property Address:		A RD, CHISHO	IM MN						
School District:	695								
ax Increment District:	-								
Property/Homesteader:	CARLSON, TO	ONYA L & THO							
<b>a a i i</b>			nt Details (20	-	•	D ( D) (	N / <b>T</b>		
	estead atus	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201 1 - Owner Ho		\$17,900	\$282,200	\$300,100	\$0	\$0	-		
	,	\$17,900			to.	¢0	2000		
(100.00% tot	Total:		\$282,200	\$300,100	\$0	\$0	2806		



## PROPERTY DETAILS REPORT





				Land D	etails						
Deed	ed Acres:	2.22									
Wate	rfront:	-									
Wate	r Front Feet:	0.00									
Wate	r Code & Desc:	W - DRILLED WEL	L								
Gas	Code & Desc:	-									
Sewe	er Code & Desc:	S - ON-SITE SANITARY SYSTEM									
Lot V	Vidth:	0.00									
Lot D	Depth:	0.00									
The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.											
	Improvement 1 Details (RESIDENCE)										
Ir	nprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
	HOUSE	1950	1,1	52	1,950	AVG Quality / 285 Ft <sup>2</sup>	2S - 2 STORY				
Γ	Segment	Story	Width	Length	Area	Foundation	on				
	BAS	1	16	20	320	BASEMEI	NT				
	BAS	2	2	15	30	BASEMEI	NT				
	BAS	2	24	32	768	BASEMEI	NT				
	CN	0	6	8	48	BASEMEI	NT				
	DK	0	8	12	96	POST ON GR	OUND				
	DK	1	6	8	48	POST ON GR	OUND				
	OP	0	6	20	120	POST ON GR	OUND				
	Bath Count	Bedroom Cour	nt	Room C	Count	Fireplace Count	HVAC				
	2.0 BATHS	4 BEDROOMS	5	-		•	CENTRAL, FUEL OIL				
		In	nproveme	ent 2 Deta	ils (DET GARA	GE)					
Ir	nprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
	GARAGE	0	1,056 1,056 - DETACHED				DETACHED				
Γ	Segment	Story	Width	Length	Area	Foundati	on				
	BAS	1	24	44	1,056	FLOATING S	SLAB				
Improvement 3 Details (12X18 SA)											
Ir	nprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
	SAUNA	0	21	6	216	-	· -				
Γ	Segment	Story	Width	Length	Area	Foundati	on				
	BAS	1	12	18	216	FLOATING S	SLAB				
			Improve	ement 4 D	etails (8X8 ST	)					
Improvement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement Finish Style Code & Desc.											
	STORAGE BUILDING 0		64		64	-	-				
Γ	Segment Story V		Width	Width Length Area		Foundation					
	BAS	-		8	64	POST ON GR	OUND				
	Improvement 5 Details (14X20 ST)										
Ir	nprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
	ORAGE BUILDING										
Γ	Segment	Story	Width	Length		Foundati	on				
	BAS	1	14	20	280	POST ON GR	OUND				



St. Louis County, Minnesota



		Improveme	ent 6 Detai	Is (WOOD SI	HED)					
Improvement Typ	Main Flo	oor Ft <sup>2</sup>			ment Finish		Style Code	& Desc.		
LEAN TO 0		21	6	216		-		-		
Segmei	Segment Story		Width Length		Area		Foundation			
BAS	BAS 0		18	18 216		POST ON GROUND				
		Improveme	ent 7 Detai	ls (WOOD SH	HED)					
Improvement Typ	e Year Built	Main Flo	Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>			Basement Finish Style Code &				
LEAN TO	0	20	200 200							
Segment Story		y Width	Width Length		Area		Foundation			
BAS 0 10 20 200 POST ON GROUND										
		Improver	ment 8 Det	ails (10X10 S	ST)					
Improvement Type Year Built				Gross Area Ft <sup>2</sup> Bas		asement Finish S		Style Code & Desc.		
	STORAGE BUILDING 0		0	100						
Segment Story		•	Width Length Area			Foundation				
BAS	0	10	10 10 100			POST ON GROUND				
		Sales Reported	to the St.	Louis Count	y Auditor					
Sal	le Date		Purchase	Price		CR	V Num	ber		
10	)/2021		\$224,900			246052				
		A	ssessmen	t History						
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bid EM		Total EMV	Def Land EMV	BI	ef dg VV	Net Tax Capacity	
	201	\$17,900	\$282,2	200 \$3	00,100	\$0	\$	60	-	
2024 Payable 2025	Total	\$17,900	\$282,2	200 \$3	00,100	\$0	\$	60	2,806.00	
	201	\$17,900	\$258,4	400 \$2	76,300	\$0	\$	60	-	
2023 Payable 2024	Total	\$17,900	\$258,4	400 \$2	76,300	\$0	\$	50	2,639.00	
	201	\$17,100	\$210,	700 \$2	27,800	\$0	\$	50	-	
2022 Payable 2023	Total	\$17,100	\$210,	700 \$2	27,800	\$0	\$	50	2,111.00	
	201	\$16,500	\$166,0	000 \$1	82,500	\$0	\$	50	-	
2021 Payable 2022	Total	\$16,500	\$166,	000 \$1	82,500	\$0	\$	50	1,617.00	
		7	Tax Detail	History	I			I		
Tax Year	Тах	Special Assessments	Total Ta Specia Assessm	al	le Land MV	Taxable Bui MV	lding	Total Ta	xable MV	
2024	\$3,051.00	\$85.00	\$3,136.	00 \$	17,098	\$246,829		\$263,927		
2023	\$2,999.00	\$85.00	\$3,084.	00 \$	15,844	\$195,21	8	\$21 <sup>·</sup>	1,062	
2022	\$1,815.00	\$85.00	\$1,900.	00 \$	14,618	\$147,067 \$161,685				



**PROPERTY DETAILS REPORT** 





Date of Report: 5/6/2025 9:24:19 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.